



Greetings Returned Volunteers:

On the following pages, you will find the in-country taxable allowances (living allowance, walk around allowance, and leave allowance) per country. Scroll through this document to find your country of service, which is listed in alphabetical order.

For detailed filing instructions, please visit www.peacecorps.gov/docs under the heading of "Tax Information for Trainees, Volunteers, and Former Volunteers" to locate the **2008 Peace Corps Tax Guide**. Page 2 of the Tax Guide shows how to use the in-country allowances listed in this document, along with the W-2 you received, to determine your filing liability. If you have questions, please contact our office at the phone number listed below.

Sincerely,

Volunteer & PSC Financial Services 1-800-424-8580, Option 2, Option 1, Ext 2136



Albania

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	All	\$230.00	22%	\$50.60

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST Days	Tax Amount Per PST
3/19/2008	6/13/2008	\$4.61	87	\$401.07

Amount Per Month	Tax Amount
\$24.00	\$24.00



Armenia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month*
January 2008 - March 2008	All	\$375.00	35%	\$131.25
April 2008 - September 2008	All	\$342.11	35%	\$119.74
August 15- September 2008 (A-16s only - 1.5 months) *Tax amount listed in this row is total tax				
amount for the 1.5 months	All	\$529.70	35%	\$185.40
October 2008	All	\$358.55	35%	\$125.49
November 2008 -December 2008	All	\$375.00	35%	\$131.25

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/1/2008	8/14/2008	\$3.62	79	\$285.86
7/10/2008	7/14/2008	\$16.45	4	\$65.79

Amount Per Month	Tax Amount
\$24.00	\$24.00



Azerbaijan

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - April 2008	All	\$241.31	17.31%	\$41.77
May 2008 - December 2008	All	\$248.57	17.34%	\$43.10

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
9/23/2008	12/10/2008	\$4.35	79	\$343.65

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008-October 2008	Village	\$450.00	27%	\$121.50
November 2008-December 2008	Village	\$470.00	27%	\$126.90
January 2008-October 2008	District Town	\$512.50	27%	\$138.38
November 2008-December 2008	District Town	\$520.00	27%	\$140.40
January 2008-October 2008	City	\$612.50	27%	\$165.38
November 2008-December 2008	City	\$620.00	27%	\$167.40
January 2008-November 2008	Belize City	\$612.50	27%	\$165.38
December 2008	Belize City	\$675.00	27%	\$182.25
January 2008-December 2008	Cayes	\$677.50	27%	\$182.93

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST Days	Tax Amount Per PST
8/20/2008	10/29/2008	\$5.00	69	\$345.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Benin

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	Level I	\$331.02	30%	\$99.31
January 2008 - December 2008	Level II	\$267.67	31%	\$82.98

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/4/2008	9/4/2008	\$3.48	63	\$219.24

Amount Per Month	Tax Amount
\$24.00	\$24.00



Bolivia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - July 2008	Urban	\$343.83	23%	\$79.08
January 2008 - July 2008	Semi-Urban	\$311.08	22%	\$68.44
January 2008 - July 2008	Semi-Rural	\$246.85	33%	\$81.46
January 2008 - July 2008	Rural	\$201.51	41%	\$82.62
August 2008 - September 2008	Urban	\$396.10	23%	\$91.10
August 2008 - September 2008	Semi-Urban	\$336.27	22%	\$73.98
August 2008 - September 2008	Semi-Rural	\$311.08	33%	\$102.66
August 2008 - September 2008	Rural	\$217.88	41%	\$89.33

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/30/2008	4/18/2008	\$2.25	77	\$173.17

Leave Allowance

Amount Per Month	Tax Amount
\$24.00	\$24.00



Peace Corps

Botswana

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - February 2008	CCB, DAC, Life Skills	\$248.00	40%	\$99.20
March 2008 - November 2008	CCB, DAC, Life Skills	\$257.00	48%	\$123.36
December 2008	CCB, DAC, Life Skills	\$270.00	9%	\$24.30
January 2008 - February 2008	NGO	\$284.00	40%	\$113.60
March 2008 - November 2008	NGO	\$292.00	39%	\$113.88
December 2008	NGO	\$321.00	8%	\$25.68

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
4/20/2008	6/17/2008	\$4.00	59	\$236.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Bulgaria

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - June 2008	Base	\$311.28	20%	\$62.26
July 2008 - December 2008	Base	\$342.11	20%	\$68.42
January 2008 - June 2008	Urban or Commute	\$326.32	20%	\$65.26
July 2008 - December 2008	Urban or Commute	\$357.14	20%	\$71.43
January 2008 - June 2008	Urban and Commute	\$341.35	20%	\$68.27
July 2008 - December 2008	Urban and Commute	\$372.18	20%	\$74.44

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
4/7/2008	6/19/2008	\$5.26	73	\$383.98
7/28/2008	10/8/2008	\$5.26	72	\$378.72

Amount Per Month	Tax Amount
\$24.00	\$24.00



Cambodia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	_	Tax Amount Per Month
January 2008 - December 2008	All	\$203.00	30%	\$60.90

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/24/2008	10/3/2008	\$3.00	72	\$216.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Cameroon

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	All	\$320.00	31%	\$99.20

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/7/2008	8/22/2008	\$2.40	77	\$184.80
9/20/2008	12/4/2008	\$2.40	76	\$182.40

Leave Allowance

Amount Per Month	Tax Amount
\$24.00	\$24.00



Cape Verde

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	U	Tax Amount Per Month
January 2008 - December 2008	All	\$418.69	36%	\$150.73

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/17/2008	9/20/2008	\$3.84	65	\$249.33

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



China

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount	_	
Y 2000 F.1 2000		Per Month	Taxed	Per Month
January 2008 - February 2008	All	\$191.53	33%	\$63.21
March 2008 - December 2008	All	\$205.84	27%	\$55.58

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/1/2008	9/7/2008	\$4.53	58	\$262.48

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Costa Rica

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - March 2008	Urban	\$348.00	31%	\$107.88
April 2008 - December 2008	Urban	\$372.00	31%	\$115.32
January 2008 - March 2008	Semi-Urban	\$294.00	37%	\$108.78
April 2008 - December 2008	Semi-Urban	\$314.00	37%	\$116.18

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/27/2008	5/17/2008	\$3.64	79	\$287.56

Amount Per Month	Tax Amount
\$24.00	\$24.00

Peace Corps Dominican Republic

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January - December 2008	Level I	\$368.36	34%	\$125.24
January - December 2008	PCVL	\$488.07	28%	\$136.66
January - July 2008	Level II	\$322.30	39%	\$125.70
August - December 2008	Level II	\$392.32	39%	\$153.00
January - July 2008	Level II+	\$339.43	40%	\$135.77
August - December 2008	Level II+	\$392.32	40%	\$156.93
January - July 2008	Level III	\$276.26	39%	\$107.74
August - December 2008	Level III	\$288.74	39%	\$112.61
January - July 2008	Level IV	\$256.79	43%	\$110.42
August - December 2008	Level IV	\$261.75	43%	\$112.55

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/28/2008	5/8/2008	\$1.38	35	\$48.17
2/28/2008	5/8/2008	\$1.07	35	\$37.46
8/21/2008	10/29/2008	\$1.38	31	\$42.66
8/21/2008	10/29/2008	\$1.07	38	\$40.67

^{*}Walk Around Allowance was divided in two for each group in order to reflect different rates used while receiving training in the capital and training in the campo.

Amount Per Month	Tax Amount
\$24.00	\$24.00



Eastern Caribbean

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	St. Lucia	\$648.15	22%	\$142.59
January 2008 - December 2008	St. Vincent	\$598.52	23%	\$137.66
January 2008 - December 2008	St. Kitts and Nevis	\$852.96	21%	\$179.12
January 2008 - December 2008	Grenada	\$702.96	22%	\$154.65
January 2008 - December 2008	Antigua and Barbuda	\$832.96	22%	\$183.25
January 2008 - December 2008	Dominica	\$657.04	25%	\$164.26

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
8/27/2008	10/17/2008	\$1.67	52	\$86.67

Leave Allowance

Amount Per Month	Tax Amount
\$24.00	\$24.00



Ecuador

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	CAT A	\$314.00	31%	\$98.40
January 2008 - December 2008	CAT B	\$230.00	32%	\$74.03
January 2008 - December 2008	CAT C	\$230.00	32%	\$74.03
January 2008 - December 2008	CAT Q	\$314.00	31%	\$98.40

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/7/2008	4/18/2008	\$7.72	72	\$555.84
6/18/2008	8/29/2008	\$7.21	73	\$526.33

Amount Per Month	Tax Amount
\$24.00	\$24.00



Ethiopia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Ü	Tax Amount Per Month
January 2008-December 2008	All	\$246.52	39%	\$96.14

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
12/4/2008	12/31/2008	\$1.44	28	\$40.32

Amount Per Month	Tax Amount
\$24.00	\$24.00



Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - October 2008	Urban	\$314.29	21%	\$66.00
January 2008 - October 2008	Rural	\$285.71	21%	\$60.00
November 2008 - December 2008	Urban	\$361.60	21%	\$75.94
November 2008 - December 2008	Rural	\$328.73	21%	\$69.03

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
5/21/2008	7/24/2008	\$2.86	64	\$182.86

Amount Per Month	Tax Amount
\$24.00	\$24.00



Peace Corps

The Gambia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - May 2008	Kombo	\$188.01	36%	\$67.68
June 2008 - December 2008	Kombo	\$188.01	22%	\$41.36
January 2008 - December 2008	Non Kombo	\$162.26	41%	\$66.53

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/7/2008	4/18/2008	\$1.20	70	\$84.00
7/3/2008	8/12/2008	\$1.20	41	\$49.20
11/6/2008	12/31/2008	\$1.20	56	\$67.20

Amount Per Month	Tax Amount
\$24.00	\$24.00



Georgia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008	All	\$360.00	41%	\$147.60
February 2008 - August 2008	All	\$377.00	44%	\$165.88

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/16/2008	8/22/2008	\$2.85	68	\$193.80

Amount Per Month	Tax Amount
\$24.00	\$24.00



Ghana

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - November 2008	Urban	\$218.78	42%	\$92.26
December 2008 - December 2008	Urban	\$240.65	37%	\$88.46
January 2008 - November 2008	Rural	\$171.22	33%	\$56.13
December 2008 - December 2008	Rural	\$188.34	36%	\$68.48

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/10/2008	8/19/2008	\$1.90	71	\$134.90
9/30/2008	12/12/2008	\$1.90	74	\$140.60

Amount Per Month	Tax Amount
\$24.00	\$24.00



Guatemala

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	Level I	\$386.45	33%	\$127.53
January 2008 - December 2008	Level II	\$336.71	38%	\$127.95
January 2008 - December 2008	Level III	\$324.21	39%	\$126.44
January 2008 - December 2008	Level IV	\$298.29	43%	\$128.26

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/9/2008	3/27/2008	\$3.42	79	\$270.18
4/30/2008	7/17/2008	\$3.42	79	\$270.18
8/13/2008	10/30/2008	\$3.42	79	\$270.18

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Guinea

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	U	Tax Amount Per Month
January 2008 - December 2008	All	\$68.00	33%	\$22.44

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per Month
G-15: 01/01/2008	02/08/2008	\$1.16	39	\$45.24
G-16: 7/10/2008	09/26/2008	\$1.16	78	\$90.48

Amount Per Month	Tax Amount
\$24.00	\$24.00



Guyana

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - August 2008	All	\$207.70	50%	\$103.85
September 2008 - December 2008	All	\$211.27	50%	\$105.64

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
5/29/2008	7/24/2008	\$2.48	57	\$141.36

Amount Per Month	Tax Amount
\$24.00	\$24.00



Honduras

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - September 2008	Urban (Tier I & II)	\$285.10	14%	\$39.91
October 2008- December 2008	Urban (Tier I & II)	\$289.24	14%	\$40.49
January 2008 - September 2008	Semi Urban (Tier III)	\$246.37	14%	\$34.49
October 2008- December 2008	Semi Urban (Tier III)	\$260.73	14%	\$36.50
January 2008 - September 2008	Rural (Tier IV)	\$207.01	11%	\$22.77
October 2008- December 2008	Rural (Tier IV)	\$222.28	11%	\$24.45

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/13/08	5/3/08	\$3.06	81	\$247.86
7/9/08	9/26/08	\$3.06	80	\$244.80

Amount Per Month	Tax Amount
\$24.00	\$24.00



Jamaica

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - July 2008	ALL	\$345.71	35%	\$121.00
August 2008 - December 2008	ALL	\$369.91	35%	\$129.47

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/3/2008	8/27/2008	\$11.43	55	\$628.57

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Jordan

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - March 2008	All	\$204.80	25%	\$51.20
April 2008 - December 2008	All	\$225.99	25%	\$56.50

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/1/2008	9/6/2008	\$2.12	68	\$144.16

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Kazakhstan

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - August 2008	Tier 1	\$649.00	33%	\$214.00
September 2008 - December 2008	Tier i	\$707.00	33%	\$233.00
January 2008 - August 2008	Tion 2	\$466.00	33%	\$154.00
September 2008 - December 2008	Tier 2	\$508.00	33%	\$168.00
January 2008 - August 2008	Tier 3	\$408.00	33%	\$135.00
September 2008 - December 2008	Tiel 3	\$444.00	33%	\$147.00
January 2008 - August 2008	Tier 4	\$341.00	33%	\$113.00
September 2008 - December 2008	Her 4	\$372.00	33%	\$123.00
January 2008 - August 2008	Tion 5	\$266.00	33%	\$88.00
September 2008 - December 2008	Tier 5	\$290.00	33%	\$96.00

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
8/21/2008	11/7/2008	\$3.50	79	\$277.00
8/21/2008	11/7/2008	4.5 (only for 6 PCTs)	79	\$356.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Kenya

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - February 2008	All	\$225.40	30%	\$67.62
June 2008 - December 2008	All	\$225.40	30%	\$67.62

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
11/14/2008	12/31/2008	\$2.10	47	\$98.70

Amount Per Month	Tax Amount
\$24.00	\$24.00



Kyrgyz Republic

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - February 2008	All	\$128.00	19%	\$24.00
March 2008	Tier 1	\$151.00	19%	\$29.00
March 2008	Tier 2	\$140.00	19%	\$27.00
March 2008	Tier 3	\$135.00	19%	\$26.00
April 2008 - September 2008	Tier 1	\$146.00	19%	\$28.00
April 2008 - September 2008	Tier 2	\$135.00	19%	\$26.00
April 2008 - September 2008	Tier 3	\$129.00	19%	\$25.00
October 2008 - December 2008	Tier 1	\$151.00	19%	\$29.00
October 2008 - December 2008	Tier 2	\$140.00	19%	\$27.00
October 2008 - December 2008	Tier 3	\$135.00	19%	\$26.00
K-16 PCVs swore-in on 09/18/08				
K-16 for 13 days of September	Tier 1	\$63.00	19%	\$12.00
K-16 for 13 days of September	Tier 2	\$58.00	19%	\$11.00
K-16 for 13 days of September	Tier 3	\$56.00	19%	\$11.00

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/7/2008	9/17/2008	\$1.25	73	\$91.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Lesotho

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	All	\$191.43	45%	\$86.14

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/1/2008	1/9/2008	\$1.81	9	\$16.29
6/8/2008	8/5/2008	\$1.81	59	\$106.79
11/15/2008	12/31/2008	\$1.81	47	\$85.07

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Liberia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
November 2008-December 2008	Kakata	\$320.00	25%	\$80.00
November 2008-December 2008	Zor Zor	\$320.00	25%	\$80.00
November 2008-December 2008	Zwedru	\$320.00	25%	\$80.00

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per Month
N/A				

Amount Per Month	Tax Amount
\$24.00	\$24.00



Macedonia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - June 2008	Non-Skopje	\$226.87	39%	\$88.48
July 2008 - December 2008	Non-Skopje	\$238.12	48%	\$114.30
January 2008 - June 2008	Skopje	\$247.50	39%	\$96.53
July 2008 - December 2008	Skopje	\$259.79	48%	\$124.70

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
9/29/2008	12/11/2008	\$2.60	74	\$192.40

Amount Per Month	Tax Amount		
\$24.00	\$24.00		



Madagascar

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - November 2008	All	\$126.53	46.70%	\$59.09
December 2008	All	\$161.61	46.70%	\$75.47

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST Days	Tax Amount Per PST
2/22/2008	4/9/2008	\$3.21	70	\$224.70
6/12/2008	8/22/2008	\$3.21	73	\$234.33
10/3/2008	12/10/2008	\$3.21	69	\$221.49

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Malawi

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	PCRVs	\$218.00	34%	\$74.12
January 2008 - December 2008	Urban	\$153.00	34%	\$52.02
January 2008 - December 2008	Rural	\$140.00	34%	\$47.60

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/2/2008	4/23/2008	\$1.50	57	\$85.50
6/5/2008	7/30/2008	\$1.50	55	\$82.50
9/25/2008	12/10/2008	\$1.50	76	\$114.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Mali

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	Capital	\$276.47	52%	\$143.77
January 2008 - December 2008	Urban	\$257.00	48%	\$123.36
January 2008 - December 2008	Rural	\$204.44	50%	\$102.22

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
7/10/2008	9/12/2008	\$5.84	57	\$332.94

Amount Per Month	Tax Amount	
\$24.00	\$24.00	

Peace Corps Tayah

Mauritania

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - November 2008	Urban	\$502.00	21%	\$105.42
December 2008	Urban	\$521.00	21%	\$109.41
January 2008 - November 2008	Semi-Urban	\$201.00	26%	\$52.26
December 2008	Semi-Urban	\$209.00	26%	\$54.34
January 2008 - November 2008	Rural	\$186.00	30%	\$55.80
December 2008	Rural	\$193.00	30%	\$57.90

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/21/2008	8/28/2008	\$1.97	69	\$135.93

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Taxable Allowances 2008

Living Allowance

C	ъ.	Gross Amount	Percentage	Tax Amount
Groups	Region	Per Month	Taxed	Per Month
PCM-2 Singles	NA	\$1,081.96	32%	\$346.23
PCM-3 Singles	A	\$1,037.32	31%	\$321.57
PCM-3 Couples	A	\$992.68	32%	\$317.66
PCM-3 Singles	В	\$992.68	32%	\$317.66
PCM-3 Couples	В	\$948.04	34%	\$322.33
PCM-4 Singles	A	\$1,037.32	31%	\$321.57
PCM-4 Couples	A	\$930.18	35%	\$325.56
PCM-4 Singles	В	\$992.68	32%	\$317.66
PCM-4 Couples	В	\$885.54	36%	\$318.79
PCM-4 Singles	С	\$948.04	34%	\$322.33
PCM-4 Couples	С	\$840.89	38%	\$319.54
PCM-5 Singles	A	\$882.59	26%	\$229.47
PCM-5 Couples	A	\$753.13	30%	\$225.94
PCM-5 Singles	В	\$845.09	27%	\$228.17
PCM-5 Couples	В	\$733.04	32%	\$234.57
PCM-5 Singles	С	\$808.04	31%	\$250.49
PCM-5 Couples	С	\$709.82	35%	\$248.44
PCM-6 Singles	A	\$839.29	26%	\$218.21
PCM-6 Singles	В	\$757.14	27%	\$204.43

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
4/3/2008	6/20/2008	\$5.50	78	\$429.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Micronesia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	FSM	\$383.00	35%	\$134.05
January 2008 - December 2008	Palau	\$415.00	35%	\$145.25

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
9/13/2008	11/19/2008	\$7.00	67	\$469.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Moldova

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - June 2008	Rural/Semi-Urban	\$254.00	37%	\$93.98
January 2008 - June 2008	Urban	\$260.00	39%	\$101.40
July 2008 - December 2008	Rural/Semi-Urban	\$323.00	35%	\$112.73
July 2008 - December 2008	Urban	\$330.00	37%	\$122.76

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/27/2008	5/6/2008	\$2.33	70	\$163.10
6/11/2008	8/19/2008	\$2.50	70	\$175.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Peace Corps

Mongolia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - September 2008	Countryside	\$109.30	21%	\$23.32
October 2008 - December 2008	Countryside	\$126.86	21%	\$27.07
January 2008 - March 2008	Special Aimag Center	\$109.30	16%	\$17.97
April 2008 - September 2008	Special Aimag Center	\$134.26	16%	\$22.07
October 2008 - December 2008	Special Aimag Center	\$150.96	16%	\$24.82
January 2008 - September 2008	UB	\$151.82	34%	\$51.76
October 2008 - December 2008	UB	\$155.60	34%	\$53.04

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/3/2008	8/15/2008	\$1.68	74	\$124.32

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Morocco

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	ALL	\$227.02	42%	\$95.35

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
3/4/2008	5/19/2008	\$3.24	77	\$249.48
9/9/2008	11/20/2008	\$3.24	73	\$236.52

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Mozambique

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - May 2008	All	\$200.28	30%	\$60.08
June 2008 - December 2008	All	\$220.29	30%	\$66.09

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
10/5/2008	12/12/2008	\$2.83	68	\$192.44

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Namibia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	O .	Tax Amount Per Month
January - December	All	\$229.47	33%	\$75.73

Walk Around Allowance (100% Taxable

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
Group 27 - 1/1/2008	1/9/2008	\$2.81	9	\$25.29
Group 28 - 11/7/2008	12/31/2008	\$2.67	54	\$144.18

Leave Allowance

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Nicaragua

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - November 2008	1	\$241.67	31%	\$74.99
January 2008 - November 2008	2	\$194.44	35%	\$68.89
January 2008 - November 2008	3	\$252.78	29%	\$72.22
January 2008 - November 2008	4	\$201.67	32%	\$63.89
December 2008	A	\$222.22	33%	\$73.67
December 2008	В	\$277.78	26%	\$72.33

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/9/2008	3/28/2008	\$1.94	77	\$149.38
5/7/2008	7/25/2008	\$1.94	77	\$149.38
9/3/2008	11/20/2008	\$1.94	77	\$149.38

Amount Per Month	Tax Amount
\$24.00	\$24.00



Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - November 2008	Urban	\$277.45	46%	\$126.52
January 2008 - November 2008	Semi-Urban	\$269.66	46%	\$122.96
January 2008 - November 2008	Rural	\$219.04	46%	\$99.88
December 2008	Urban	\$305.20	46%	\$139.17
December 2008	Semi-Urban	\$296.70	46%	\$135.30
December 2008	Rural	\$240.90	46%	\$109.85

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/11/2008	3/14/2008	\$1.90	63	\$119.70
7/13/2008	9/12/2008	\$1.90	63	\$119.70
10/9/2008	12/12/2008	\$0.19	63	\$119.70

Amount Per Month	Tax Amount
\$24.00	\$24.00



Panama

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	All	\$316.00	39%	\$123.24

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
4/16/2008	6/26/2008	\$3.00	72	\$216.00
8/13/2008	10/22/2008	\$3.00	71	\$213.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Paraguay

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	Level I	\$386.00	23%	\$88.78
January 2008 - December 2008	Level II	\$343.00	30%	\$102.90
January 2008 - December 2008	Level II	\$321.00	28%	\$89.88
January 2008 - December 2008	Level IV	\$279.00	33%	\$92.07

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/7/2008	4/25/2008	\$2.69	77	\$207.13
5/29/2008	8/6/2008	\$2.69	77	\$207.13
9/25/2008	12/5/2008	\$2.69	77	\$207.13

Amount Per Month	Tax Amount
\$24.00	\$24.00



Peru

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	City	\$471.58	51%	\$241.73
January 2008 - December 2008	Urban	\$420.21	51%	\$215.40
January 2008 - December 2008	Semi-Urban	\$359.59	43%	\$153.72
January 2008 - December 2008	Rural	\$329.79	45%	\$149.56

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/7/2008	8/22/2008	\$2.79	77	\$214.83
9/13/2008	11/28/2008	\$2.63	77	\$202.51

Amount Per Month	Tax Amount
\$24.00	\$24.00



Philippines

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	O	Tax Amount Per Month
January 2008 - December 2008	All	\$229.00	26%	\$59.54

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
8/16/2008	11/7/2008	\$1.63	83	\$135.29

Amount Per Month	Tax Amount
\$24.00	\$24.00



Romania

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - March 2008	All	\$350.00	16.29%	\$57.02
April 2008 - October2008	All	\$320.00	17.81%	\$56.99
November 2008 - December 2008	All	\$350.00	16.29%	\$57.02

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/23/2008	5/5/2008	\$4.71	73	\$343.83
5/24/2008	8/1/2008	\$4.71	70	\$329.70

Amount Per Month	Tax Amount		
\$24.00	\$24.00		



Samoa

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	All	\$384.00	30%	\$115.20

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/4/2008	8/25/2008	\$2.00	83	\$166.00
10/8/2008	12/16/2008	\$2.00	70	\$140.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Senegal

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount	Percentage	Tax Amount
Withins	Region	Per Month	Taxed	Per Month
January 2008 - December 2008	Rural	\$250.00	46%	\$114.25
January 2008 - December 2008	Small Town	\$285.00	46%	\$130.25
January 2008 - December 2008	Midsize Town	\$320.00	46%	\$147.20
January 2008 - December 2008	Urban	\$366.00	46%	\$168.36
January 2008 - December 2008	Dakar	\$454.00	46%	\$208.84

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
3/13/2008	5/9/2008	\$2.69	58	\$156.02
9/11/2008	11/7/2008	\$2.69	64	\$172.16

Amount Per Month	Tax Amount
\$24.00	\$24.00



South Africa

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008-December 2008	All	\$268.85	40%	\$158.62

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/20/2008	4/1/2008	\$1.91	65	\$124.15
7/19/2008	9/13/2008	\$1.91	65	\$124.15

Amount Per Month	Tax Amount
\$24.00	\$24.00



Suriname

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Amount	Percentage Taxed	Tax Amount Per Month
January 2008 - July 2008	ALL	\$200.00	24%	\$48.00
August 2008 - December 2008	ALL	\$235.71	24%	\$56.57

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
5/17/2008	8/1/2008	\$1.79	77	\$137.83

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Swaziland

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	All	\$300.40	31%	\$93.12

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/27/2008	8/28/2008	\$3.43	63	\$216.29

Amount Per Month	Tax Amount
\$24.00	\$24.00



Tanzania

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	Arusha	\$240.00	30%	\$72.00
July 2008 - December 2008	Zanzibar	\$204.80	30%	\$61.44
July 2008 - December 2008	Rural/Other	\$160.00	30%	\$48.00

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/11/2008	8/19/2008	\$3.60	70	\$252.00
9/17/2008	11/26/2008	\$3.60	70	\$252.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Thailand

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	_	Tax Amount Per Month
January 2008 - December 2008	All	\$196.45	51%	\$100.19

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
1/24/2008	4/3/2008	\$3.53	71	\$250.63

Amount Per Month	Tax Amount
\$24.00	\$24.00

Togo

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	U	Tax Amount Per Month
January 2008 - December 2008	All	\$251.16	44%	\$110.51

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
6/7/2008	8/21/2008	\$1.75	76	\$133.00
9/20/2008	12/4/2008	\$1.75	76	\$133.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Tonga

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - May 2008	All	\$290.95	14%	\$40.73
June 2008 - December 2008	All	\$324.21	14%	\$45.39

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
10/9/2008	12/17/2008	\$3.91	69	\$269.79

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Turkmenistan

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - December 2008	Urban	\$237.00	30%	\$71.10
January 2008 - December 2008	Rural	\$177.00	31%	\$54.87

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
10/1/2008	12/4/2008	\$2.12	65	\$137.80

Amount Per Month	Tax Amount
\$24.00	\$24.00



Uganda

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	O	Tax Amount Per Month
January 2008 - December 2008	ALL	\$250.00	27%	\$67.50

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/14/2008	4/10/2008	\$2.69	56	\$150.64
8/7/2008	10/10/2008	\$2.69	62	\$166.78

Amount Per Month	Tax Amount
\$24.00	\$24.00



Peace Corps

Ukraine

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - March 2008	All Groups except Gr#34-35 PCVs	\$231.00	35.00%	\$80.85
April 2008	All Groups except Gr#34-35 PCVs	\$234.00	35.00%	\$81.90
May 2008	All Groups except Gr#34-35 PCVs	\$235.00	35.00%	\$82.25
June 2008	All Groups except Gr#34-35 PCVs	\$266.00	35.00%	\$93.10
June 2008	Gr# 34 PCVs	\$115.26	35.00%	\$40.34
July 2008	All Groups except Gr#35 PCVs	\$274.00	35.00%	\$95.90
August 2008	All Groups except Gr#35 PCVs	\$277.00	35.00%	\$96.95
September 2008	All Groups except Gr#35 PCVs	\$276.00	35.00%	\$96.60
October 2008	All Groups except Gr#35 PCVs	\$257.00	35.00%	\$89.95
November 2008	All Groups except Gr#35 PCVs	\$227.72	35.00%	\$79.70
December 2008	All Groups except Gr#35 PCVs	\$221.00	35.00%	\$77.35
December 2008	Gr# 35 PCVs	\$163.97	35.00%	\$57.39

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
3/26/2008	6/17/2008	\$2.04	84	\$171.36
9/28/2008	12/9/2008	\$1.72	75	\$129.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Vanuatu

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	U	Tax Amount Per Month
January 2008 - December 2008	All	\$453.03	34%	\$153.58

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
4/12/2008	6/26/2008	\$3.60	60	\$216.00
4/12/2008	6/26/2008	\$18.00	5	\$90.00
9/20/2008	11/27/2008	\$3.60	60	\$216.00
9/20/2008	11/27/2008	\$18.00	5	\$90.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Zambia

Taxable Allowances 2008

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Tax Amount Per Month
January 2008 - August 2008	Urban	\$364.01	33%	\$120.12
September 2008 - December 2008	Urban	\$436.82	33%	\$144.15
January 2008 - December 2008	Rural	\$343.27	34%	\$116.71

Walk Around Allowance (100% Taxable)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount Per PST
2/24/2008	4/25/2008	\$3.21	63	\$202.23
7/27/2008	9/26/2008	\$3.21	63	\$202.23

Amount Per Month	Tax Amount		
\$24.00	\$24.00		